Osnovi elektronike - Odsek za SI

Ispit odrzan 02.02.2008. — reSenja zadataka

Prvi deo

a)V, =3V; V, =4V; V, =6V
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Drugi deo

3. V(t) = 2V -cos(mt —45°) =V =~/2.e 1%V = (1- j)v
i(t) = 2J2A-sin(wt) = 2J2A- cos(wt —90°) = 1 =26 19" A= _j2A
Z = jo-40uH = j2Q
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b) Sp=—-]—; =—W,; =——VAr; Sp = VA; COSPp=—"=—+
) 3p =147 Vo P14 P ="g8 7 o8 ¢ Sp 52
Treéi kolokvijum
4.2) I,=1mA; Vg =4V, V,=1V; V=12V,
b) Om =+/21pB =1mS; a, = In(Rs [ Re) =0,4545; Ru,=R1||R2=§kQ;
1+ 9n(Rs I Rp) 3

R = R ||gi=5009
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5. VI =V2. &4_%4_&4_1)_%[.(&4_%4_&4_@)



